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Time: 3 hrs. * u\& Max. Marks: 80

ONE full question ffom eqch modu{r.Note: l. Answer any FIVE full questions,
2. Use of interest chafi is
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2a.
b.

5a.
b.

1a.
b.

3a.
b.

4a.
b.

6a.
b.

7a.
b.

(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)

t.int.erest rate of 7.5oh iompounded annqelii..This amount has to be repaid in 15 years at
; ., ' i.r-

With a ncat sketch, ex
A 45 years old person
for the next L5-,,years
maturity value When h' .:, ltr.,

OR
nxpHihthe law of demaqd and supply with price versus demand./supply graph. (08 Marks)
A perscin takes a loan of Rs.30,00,000 from a riationalized bank to build a new house at an

ar''! 

':.:rr'' ,;;,,r,.,,*'',' 

r 'FJ 
(08Markj

"':i -t 
-lModule-4

Briefly exiiia*,r1he conditions CI?ffisent worth comparison. (08 Marks)
A granite company is planning to by a fully automated granite cutting machine. If it is
purchased under down pdy'rtrent, the cost of the machine is Rs.16,00,000. If it is purchasetl
under installment basis.lj]re':dompany has to pay 25Yo of the cost at the time of purchase and
the remaining amount.irfi0 annual equal installments of Rs.2,00,000 each. Suggest the best
alternative for thp.ggihpany using the present worlh basis at i: 18%o compounded annually.

, i ..:j (08 Marks)
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oR:

(08 Marks)Briefly explain the varies elements

BOSH company produces 500
Direct labour cost of Rs.35,
15% of the selling price a
price of one spark plug.

9a.
b.
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8a.
b.

What is

A company
life of 8

the depreciation and

the causes ,ciation. (08 Marks)

first cost is Rs.1,00,000 with an estimated
,e'"bf the equiprnent at the end of its iife time is

value for the 5th year using the sum of the years-
(08 Marks)
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b. For the 4 bar mechanism shown in Fig.Q.1(b), find tlp required torque T2 and various P in
forces on the links for the equilibrium of the system. (10 N{arks)

. "'" -{'-2-'--'rf "f;;;
lu*}' \,- I )s; ?9otY1tY)L)Y---- +, .#,oo*-
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, ::-,,:1 OR ,"r'iii. .r'

a. Explain D'Almerts principle and state its sigaificanit.
b. In a veflical double acting steam engine, the connecti

: ,!_.rirrrij{

,,,:,t1 OR :t"t . .- --.,''
e,and state its sig4ificance. (04 N{arks)

b. In a veftical double acting steam engine, the 'Connecting rod is 4.5 times the crank. The
weight of the reciprocating parts is l20kg and the stroke of the Piston is 440mrn. The engine
runs at 250rpm. If the net load on the Piston due to steam pressure is 25kN when the crank
has runred through an angle.of l20o from the top dead centre, determine:

,{:,.,,

angular seltings of the 4 massesso that the shaft shall be in complete balance. (12 N{arks)

r' : 
i': OR':'oR

A four crank engine has'the two outer cranks set at 120o to each other, and their
reciprocating masses are each 400kg. The distance between the planes of rotation of adjacent
cranks are 450mn1,,?50mm and 600mm. If the engine is to be in complete primary balance,
find the reciprod.ating mass and the relative angular position for each of the inner cranks. If
the length of eaCh'crank is 300mm, the length of each connecting rod is I .2m and the speed

F-ifth Semester B.E. Degree Examination, Dec.2018 /Jan.2079
Dynamics of Machinery

Time: 3 hrs. Max. Marks: B0

lttote: Answer dn! FIVE full questions, cltoosing OlvE full question from euch module.

Module-1lVlU !

a. State the condition for static equilibrium of a body subjected to a system of
i) two forces ii) three forces iii) member with tlyo forces and a tor<

Effi$Gffiffi

\v' 1rr4rnr.,

nnecting rod is 4.5 times the crank. The

of rotation is 240rpm. What is the maximum secondary unbalanced force? (16 Marks)
r:::::rii''ilii

.f :;:,i".1,,. r of 3
,:'

15ME52

l[""#Fe"

y) , Tuming moment oil'thelcrank shaft. :1...., (12 Nlarks)

Module.2..1r..-l:t,.,..,. I li'u, 

-

3 a. iWhat do you mearl.by; tatic and dynamic balancing? (04 Marks)
b A, B, C and D are 4 masses carried'by a rotating shaft at radii 100, 125,200 and 150mm



5a.

b.

N{odule-4
7 a. Add the following harmonic motiohs analyically and chgck'the solutions graphically:

xr :4 cos 1wt + l0o1

xz : 6 sin (wt + 60") (08xz : 6 sin (wt + 60") . ji:: (08 Marks)

b. Find the nafirral frecuengl iif the system sholn in the Fig.Q.7(b) usmgren".r, *",loororu.ur,

i\lodule-3
Explain the following terrns relative to govemors: i) Stability
iii) Isochronism iv) Hunting.

":...'.if.Q,,....',''

15ME52

ii) Sensitiveness
(08 Marks)

6a.

b.

A porter governor has equal ams each 250mm long an<J pivotecl on the axis of rotation.
Each ball has a mass of 5kg and the mass ol the central load on the sleeve is 15kg. The

radius of rotation of the ball is 15Ornm rvhen the govemor begins to lift and 200mm when
the governor is at maxinrum speed. Find the milrirnuru and maximum sp€.eds and the range
of speed of the governor. (08 Marksr

OR
With neat sketches, explain the effect of gyroscopic couple on steering, pitching and rolling
of a ship. , 

i, '' (06 Marks)
Alr aeroplane flying at240krrlh tums towards the left and completes a quarter circle of 60m
radius. The mass of the rotortngine and the propeller of the plane is 450kg with a radius of
gyration of 320mrn. The engine speed is 2000 rpm clockwise rvhen viewed flom the rear.

Determine the gyroscopic couple on the aircraft and its effect. ln rvhat way is the eifect
changed u'hen the
i) Aeroplane tums towards right
ii) Engine roLates clockwise rvhen viewedrfrom the front (nose end) and the aeroplane

turns left and right. (10 lvlarks)
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OR
8 a. Find the n-1.!$Cuency of the*p,,y ierh shown in Fig.Q.S(a) using Newton's method.

:, :rr., , (08 l\{arks}
,iO

,j' .i:'

..d ""' 
":'

.. r*:t$Y1i

,+q

X1

xz: 6 sin (wt + 60")
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b. Find the natural frequency of the system shori'n in Fig.e.8{b). K - 2 x

I 5N{E52

105N/rn,m-20kg.
(08 N{arks)

k
"eql='
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:m which consists of mass of
damping provided is only I5o o

'6::,
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Module-5
9 a. Set up the differential equation for a spring mass darnper system and obtain complete

solution for the critically damped condition. (08 N(arks)
b. Determine:L,'tr tCI IIIIIIC:

i) Critical darrpurg coelficicnr
iit Damplrg lactor
iii) Natural fiequency of damped vibrations
iv) Logarirhmicdecremenr
v) Ratio of two consecutive aurplih_rde o1

25kg, a spnng of stiffness 15 kN/m and a daniper. The damping provided is only l50l
olthe critical value. (0s nlart<st

OR
10 a. Define transmissibility and derive an expression for the transmissibility ratio and the phase

angle for transmitled force. 'r' (08 N{arks)
b. A machine of tnass onc ton is acted upon by an extemal force 2450N at a frequency of

l500rpm. To reduce tire effects of vibration, isolator and rubber having a static deflection ofl500rpm. To reduce tire effects of vibration, isolator and rubber having a static deflection
2mm under'the machine load and ad estimated damping factor of 0.2 are used. Determine :

i) Force transmitted to the loundation

ii) Amplirude olvibration of the machine

,l1i). 
' fnut. lag of the transmitted force with iespect to the extemal force. (08 Marks)jjj),,, pt ur. lag of the trangmitted force with tei

,r tr< {. *.*''''rr:' &.- w jlfuW'a"i' 6
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la.
b.

Differentiate between turbo machiaes and positive displacement machines. (08 Marks)

of reaction : 5A%,

; and positive displacement machines.

m in diameter at 30 m head gave the

is 180 rpm and discharge 2.7 m3ls.l
Test on a turbomachine runner 1.25 m in diameter at 30 m head gave the following results.

Power developed :736 KW. Speed is 180 rpm and discharge 2.1 mils. Find the diameter,

speed and discharge of a runner to operate at 45 m head and gfue 7472 KW at the samespeed and discharge of a runner to operate at 45 m head and give 7472 KW at the same

efficiency. What is specific speed of troth the turbines? (08 Marks)

(08 Marks)

a static temperature of
mls. For the gases,

3a.
b.

oftiie gases.

(08 Marks)

0 rpm. Diartreter of the rotor at inlet
id leaves the rotor radially with an

9z : dischalile blade angle with respect to tangential direction. Explain the effect of
discharge angle on it^ (08 Marks)

b. An axial flow co ffas the following data. Entry conditions: 1 bar and 20oC, degree

lade ring dia : 60 cm, rotational speed : 18000 rpm, blade angle

ired to derive the compressor.

and outlet are 75 cm and 50 cm respectively. The fluid leaves the rotor radially wtth an

absolute velocity of 5 m/s. Detennrne: (i) The blade angles (ii) work done (iii) utilization
facfot (08 Marks)faCtOf" .,,,rt,r., "'iriili:r,,,,ir (08 MarkS)

,,..,''''"ttttt" (p""'"t-

4 a.""tt,""Derive theoretical head capacity relation in case of radial flow pump [centrifugal]eoretical head capacity relatit

_,,2 ujQcot0z
H=tl; "A2

Power re{u
.4L$*r

i -"'.--i
tt-

iD

rrrrrrrrl ,*ffi*hh&

Fifth S emester B.E. D egree Examina (i@.b bc.2 0 I 8/J a,n.20l9
TurbomachinesTurbomachines

Time: 3 hrs. Max. Marks:

Note: Answer sny FIVE fuA questions, choosing ONE full question from euch module.

at roror and stator exit:65'. Axiai velocity: 180 m/s, mechanical efficiency:96^7%.at rotor and stator exit:65'. Axiai velocity: 180 m/s, mechanica

F 1nO:

i) Blade angle at rotor and stator inlet"

i of 2

(08 Marks)



5a.
b.

Module-3
15M853

(08 Marks)What is compounding? Explain any two methods of compon
The following particulars refer to a single impulse t I Mean diameter of blade
ring : 2.5 m, speed : 3000 rpm, nozzle angle : 20", *&li blade velocity to steam :0.4,

that at inlet. Steam flow rate
power developed (ii) blade

blade friction factor: 0.8, blade angle at exit is 3l
36000 kg/hr. Draw the velocity diagram and cdlcftlate (i)

(08 Marks)

a pelton wheel produ@p 15000 KW under a head of 350 m, while
running at 500 rpm. Assume a turbine efficiency of 0.84, coefficient of velocity for nozzle as

0.98, speed ratio 0.46 and bucket velocity coefficient 0.86. Calculate: (i) Number of .1et

Module-4
Show that for maximum efficiency of pelton wheel the bucket velocity is equal to half of the

\/
jet velocity U :; . (08 Marks)jet velocity tJ =; .

In a power station, z

running at 500 rpm. A

6a.

1a.

b.

8a.

b.

b.

(ii) Diameter of each jet (iii) Tangential force on the buckets if the bucket deflect the jet
through 165'. (08 Marks)

OROR
With a rnathematical expression. define the following;
i) Hydraulic efficiency ii) Mechanical elficiency
iir) Overallefficiency iv) Volumetric efficiencyiir) Overallefficiency iv) Volumetric efficiency (08 Marks;
A Kaplan turbine working under a head of 20 m develops 11172 KW shaft power. The outer
diameter of the runner is 3.5 m and hub dice is L75 m. The guide blade angle at the extremediameter of the runner is 3.5 m and hub
edge ofthe runner is 35o. The hydraul.
84% respectively. If the velocity of whii

: "fui Module-S""'
a. Define the lollowing:

D Suction head ii) Delir
"'D'

D Suction head ii) Delivery head
iii) Manometric head iv) Net positive suction head (08 Marks)

b. A centrifugal pump working in a dock, purxps 1565 l./s, against head (mean lift) of 6.1 m
when the impeller rotates at 200 rpm. The impeller diameter is 122 cm and the area at outlet
periphery is 6450 cm'.If the vanes are set back at an angle of 26o at the outlet, find
(i) hydraulic efficiency 1ii) power required to drive the pump. If the ratio of external to
internal diameter is 2, find the minimum speed to start pumping. (08 Marks)

OR

v compressor show that E = r,."[ffi#] (08 Marks)

.i

b. What are the types of diffuses used in centrifugal compressor? Explain any two. (08 Marks)

"w=
***i(*

2 af 2

efficiency. (08 Marks)

llii... (08 Marks)
2 cos2 cr.,

Ib,nr = J '
[ + cos" cx.r
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Time: 3 hrs. Max. Marks: B0

Note: I. Answer any FIVEftrll questiotts, chossing ONEfult questionfrotn eerch module.
2. Any missing data may be suitably assumed.
3. [.se of desigtr data hand book is permittcd.

Module-1
1 a. List the factors rvhicl-r govern,the selection of appropriate material for.a machine colnponent.

(05 Marks)
b. A stepped shaft with its diameter reduced lor '2d' to 'd' has a fillet radius of 0.1d.

Determine the diameters of the shaft and the radius of the fillet to transmit a power of 65

KW at a rated speed of 1440 rpm limiting the shear stress induced to 60 MPa. (11 Nlarks)

OR
2 a. Define stress concentration and shorv how stress concentration can be redr:ced for tr,vo

examples with neat sketches. 106 Nlarks)
b. A cantilevei beam of rectangular cross section rvith a depth of 150 mm is subjected to an

axial.tensile load of 40 kN and a transverse load of 50 kN acting downwards at the free end
of 600 mm length beam. The material of the beam has aliou,able tensile stress of 100 MPa.
Determine the width of rectangular sec(ion o[the beam. (I0 Marks)

'.,.: : ^ 
i,'

: .. Module-2 l

3 a. Derive an expression foi'impact stress induced''in a member subjected to axial ,oudiou 
Marks)

a, 'itai"

Fifth Semester B.E. Degree Examinatiqn, Dec.2018 lJan.20l9
i uiDesign of Machine *!_leii{ents - I

(06 Marks)
b. A piston rod of steam engine is subjected to a completely revers-ed axial load o f 5 0 kN. The

material of rod.-.has an yield nordal stress of :t0 Nlmrn2 and endurance stress of
289 N/mm2. Asiuming load factor,of 0.7, size factor as i and surface finish factor as 1.

Deterniine the diameter of rod. Choose factor of safety as 2. (10 Marks)

OR
a. Derive Soderberg's relation for a member subjected to fatigue loading. (06 Marks)
b. A bd'am of 400 mm depth I-section is resting on two supports 5m apart. It is loaded by a

. ; '''w_eight of 8 kN falling through a height,'of 20. mm and striking- the beam at mid point.
"'i.l*Moment of inertialr8flthe section is l2-x i'0'mmo. Take E = 2 , 105 N/mm2. Determine:

i) Impact factor ii) Instantaneous maximum stress

iii) Instantanebud maximum deflection iv) Instantaneous maximum load. (10 Marks)

''".,,.. Module-3
A shaft mounted between bearings 1.2 m apart receives a power of 20 KW at 1000 rprn
through a pulley 600.mm,diameter located 400 mm from the left bearing from another
pulley directly below it. The power is delivered through a pinion of 200 mm diameter
located 700 mm .from the left bearing to another gear in front of it. The shaft rotates
clockwise wheBfui€lved through the left bearing. The belt has a ratio of tensions of 2.5 and

i
the gears are of,,l05pressure angle. The weight of the pulley is 500 N and that of the gear is
200 N. Detelmirie the diameter of shaft. The material of the shaft has design shear stress of

'*.:,,|.,'if$dbse 
*o: 1'5' K = l'0' 

I or3 
(16 Marks)
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OR
6 a. Design a cotter joint to join two round rods capable of sustaining an axial load of 100 kN.

The material of the joint has design tensile stress 100 N/mm2. crushing
stress : 150 N/mm2 and shear stress : 60 N/rnm2. (08 l\Iarks)

b. A cast iron flange coupling is used to connect two shafts of 80 mrn diarreter. The shaft runs

at 250 rpm and transrnits a torque of 2500 N-m. The permissible shear stress lor shaft
material and bolt materials is 50 MPa and permissible shear stress fbr flange is 20 MPa.
Design the bolts and the flange. Also select suitable key for the coupling. Take allorvable
normal stress for bolt as 100 MPa. (08 Marks)

Ilodule-4
7 a. Design a double riveted butt joint *iiIF*o .or"r plates for the longitudinal searn of a boiler

shell 1.5 m in diameter subjected to a steam pressure of 0.95:N/mm'. Assume an efficiency
of 72o/o, allowable tensile st.qSS,inthe plate of 90 N/mmz, crushing stress of 140 N/nrm2 and
an allowable shear stress in the rivet of 50 N/rnm2. (08 N{arks)

b. Determine the size of lr,eld required for an eccentricatty loaded weld as shown in Fig Q7(b).
The allowable stress in the weld is 75 MPa.The allowable stress in,th6r'weld is 75 MPa.

2nkN
I 5 O r,v.!o

15ME54

l0 kN and allowable shear stress in the bolt material

Fig.Q9(a)
2 of3

OR
8 a. Two lengths of a flat tie bar for a bridge stnicture of 250 mm wide and l8 rnrn thick are

conxected by a diamond joint with equal cover plates on either side. Design the joint
completely working stresses for the material of the bar are 100 MPa in tension. 70 MPa in
shear and 160 MPa in crushing. (08 Marks)

b. One end'of a rectangular baffif cross section 120'qrm x 70 mm is welded to a vertical
support'6y four fillet welds albng its circumference. A steady transverse load of 10 kN is

applied,.ii the free end,pf.tii'e'bar of length 160 mm and is parallel to 120 mm side.
^ ,'{!., ;; .

support 6y four fillet welds,,qf8hg its circumference. A steady transverse load of 10 kN is

applied,.ii the free end of the bar of length 160 mm and is parallel to 120 mm side.

Determine the size of weltl, if the allowable stress in the material is limited to 1 15 MPa.

a,:.': .. $ iutt 'rl-,j, 
(08 Marks)

1tj!:: "';:: ..i,,. i.,. .";

i ,:rirri;' _.,""''i::,:i,,.. MOdUle:5
,t 'ii if,, ll'

a. r'A bracket is fix'bd"to"the wall by mediis of four bolts and loaded as shown in Fig.Q9(a).

iryrl

Calculate th*qi+ze of bolts if the
is 40 MPar,::: \'r .I;is 40 MPar,:.']. 

*r 
"i-$urrr

'lr,j !s ,l 300-- , I pr*
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(0li Mari<s)



15ME54

A square threaded power scrc'uv has a nominal diameter ol30 mrn and a pitch of 6 mrn lr,ith
double threads. The load on thc screw is 6 kN.and the meandiameter of the tlrrust collar is
40 mm. the coefflcierrt of lrictior-r for the screu,is 0.1 and the collar is 0.09. Detemine:
i) Torque required to raise and lower the screw with load
ii) Overall elficiency (08 N,{arks)

OR
l0
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3a.

2 a. Derive expres

b. The rectangula
follows:.' "'

subjected to end loads

Derive the exprffisi
and external fluid p

.u, i, --,'' Module-3
Determine the bendin$tiliibss component in case of bending of a narrow Cantilever bear-n

(06 Marks)

(10 Marks)

(06 N{:rr!<si

(16 Marks)

$ .*'. 
,3

I of2
(16 i\[arks)

\

usNl I I I I I I I I I I tsNIEss2

n. Dec.20l8lJan.20l9

0.01xy,+'Q,p2y'
,rmine the,strain

Fifth Semester B.E. Degree Examination, Dec.2018/Jan.20l9
Theory of Elasticity

,,.',..''

Note: lnswer FIVE full questions, chooging ONE fitll question frglm,euch module.
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Module-4
Derive the expressions for radial and circumfcrentral stresses in a solid rotating disc of
uniform thickness" (16 N{arks)

Moauie.S
Determine the raclial and tangential stfess.distribution in a solid long cylinder rtrcl hollow
l^-- ^*rli-,'l^. o,kionforl fn a rorliol foffharqfrrra rliotrihrr+inn 

-:' 
r'r( ntr^-t,.\

8

9

10

long cylinder subjected to a radial temoerature distribution. (16 Marks)
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Module-2
3 a. With a neat sketch, explain the working principle and operation of USM process. (08 Marks)

b. Discuss the influence of the following parameters on USM process:
(i) Amplitude and frequency of vibration.
(ii) Abrasive grain size.
(iii) Ellect of slurry.
(iv) Applied static load. (08 Marks)

OR
4 a. Explain the process variables that influence the rnetal rernoval rate in abrasive jet machining.

(()tl Marks)
b. Mention any lwo advantages. disadvantages and applications ol'water jct mae hining pr'()ccss.

(08 Marks)

Module-3
5 a. Briefly explain the electrolyes used in ECM process. (08 Marks)

b. With a schematic diagram, explain the Electro Chemical Honing process. (08 Marks)

OR
6 a. List out the various proccss parameters and briefly explain their eff'ects on chemical

machining process. (08 Marks)
b. Write a short note on chemical blanking. (08 Marks)

Module-4
a. With a neat sketch, briefly explain the Feed control in EDM process. (0ti Marks)
b. What are the requirements of Dielectric fluid? Mention any two dielectric flr.rids used in

EDM process. (08 N'tarks)

OR
a. With a neat sketch, briefly explain PAM process. (08 Marks)
b. Discuss some of the imporlant considerations in the design of plasma Torch in PAM.

(08 Marks)

Module-5
a. With a neat sketch, briefly explain the principle and working of laser beam machining.

(0ti N{arks)
b. What are the advantages and limitations of LBM process? (0tt Nlarks)

OR
10 a.

b.

With a neat sketch, briefly explain working of electron beam machining.
Write the applications and limitatio^ 

";t_Ut:._,?n 
Beam Machining (EBM).

,-il."1,rrrr,r r,*''

effi$G

Fifth Semester B.E. Degree Examination, Dec.2018 /Jan.2079
Non Traditional Machining

Time: 3 hrs. Max. Marks: 80

Note: lnsw er FIVE.fult questions, choosing one fitll question Jiom each ntotlule.

Nlodule- I

I a. How do you classify Non-traditional machining processes? Discuss briefly. (08 Marks)
b. Compare the traditional and non-traditional machining processes. (08 Marks)

OR
2 a. Explain the need for non-traditronal rnachining processes. (08 Nlarks)

b. Write in brief note on the selection of non traditional maclrinrng processes. (08 Marks)

lsME554

(08 Marks)
(08 Marks)
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4a.
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5a.

b.

6a.

b.

Explain thg flctw of energy thro
Consum<9i$ *nd Decomposers].

pg,lionits ofthe eco system. [Producers,
r,1,,,,,,,,,.)" (08 Marks)
d"'chains. (08 Marks)

Module:4
a. . Dispuss the major sources 6nd effects of air pollution. (08 Marks)
b,$,1l*Ddflne Noise pollutiiih',List the major sources and effects of noise pollution. (08 Marks)

a. With a neat didgra*,'.*ptui, uu+{cipif ,t}ro *u.r. tMswl Processing unit. (10 Marks)
b. Discuss flr6p,ple Of individual in pollution prevention. (06 Marks)\.S*F, - )r'o 

," u" Module-S
a. Explain the phenomenoq,ptgldbal ****g, f*tor contributing global warming and its

effect. ;4[rfv:r:r (lo Marks)
b. What is Acid rain? Explain the causes and effects of acid rain. (06 Marks)

10 a.

b.

(10 Marks)
ii) Environment Protection Act.
impact of ozone depletion on human

(06 Marks)

USN

:sJ ,,.

.. iil: "

*x"v'

Time: 3 hrs.

Note: lnspet any FIVE full qaestions,

List and explain the different
Explain briefly the key

Explain the
i)

g .+il
\isN. s

trl)11ir,,..'ii ,,,il a*. Marks: g0

sing ONE full question irbin bach module.

151V18562

(06 Marks)
(10 Marks)

(06 Marks)
(10 Marks)

(08 Marks)
heat thermal storage syst€m.

(08 Marks)

(08 Marks)
in an industrial

(08 Marks)

studies.
(10 Marks)
(06 Marks)
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Note: l. Answer any FIVEfuil questionp,*;r]r* oNE futt qunrtion'u1r-,* 
"orn 

modure,

la,DefineProjec.t.Exp1aindtff.m-H"*ffiu,*".;.-.*.*.(06Marks)
b. With a flow chart, explaidqgfrous steps involved in sqfriegic planning process. (10 Marks)

(s )' ,$,i ,, "

" -TNo oR
2 a. List and explain th{rl$thods of selecting projects: (06 Marks)b. List and explain\ribfrs rypes of projects. , L"r: (r0 r\rarks)d*d. NNd

d\ \ Moduti_2
3 a. What is*Plqjett planning? Explain pfgJgit scope check list with suitable example. (08 Marks,yb. List Eq"duexplain the steps involved rhifi*e development ofprfuect schedule. (08 Marks)- j" \S""

4 a. what is Project schedule? ffiI.t$e *r," i,fr"r" q(ffi schedulelirst organization.
..r \" - 

\.",b: . i. (06 Marks)b. Define Work Breakaowfittfr.rcture (WBS) u6A:.Spfiin coding *re qpB"for the information
system with suitable examlle. 

,n. .u*, 
'1 

(10 Marks)
, ,l.*.* j'V .' .

".":i.* 
" na$uihu-s '$,1kll'i'

5 a. What is Staffin#,Explain the steps lnvglved tolreate srafflng Lurug"*.nt plan. (06 Marks)b' IP.,1if P,tq"d Risk Management PiliLnl Explain basic;teps needed for developing a project
Risk Mq{agement plan. 

*u$ *,"k i" 
- -r- 

(r0 Marks)
"SatNsf 'q$i..^ \\\" ffi\)- oR ** '

6 a. P*{fi, the concept 
"f "$qfpmrting 

uJgofi.planning in projecr budgeting. (06 Marks)brl E4Rtain KickoffprojgtanUfrqect qualiqHgdli. (10 Marks)'*W' t*o-Y )

7 a. Explain the cq5$iof project purtpuo@ ura *llaborations in performing projects.a V'P. effise (06 Marks)b. What is,Prffif balanced scorecar&"with a flow chart explain project balanced scorecardaPProach' 
,{6rys 

' 
(roMarks)

WoR
8 a' What is Project Supplypffiin Management? Explain the different stages involved in supply

chain managemer\mm^c,ess. (10 Marks)b. Explain the coffFpldf financial issues related to project. (06 Marks)
\1

ntuffi
'et"-*S-*s"

.{w
I ofZ



15ME564

the events in
'(06 Marks)

in 40 days.
(10 Marks)

diagram

roject network and probability that

Define an arrow
network diagram.
A project has the

Construct

9a.

b.

i) Criticalpathanditsduraqpr ii) TotalfloatforeachWtivity. (loMarks)

MoR{fu
With an example, exnt{}&ivity on Node (AON)}W'hctivitv on Arrow ,"OUr.xt'ff;il;

The foilowing tlpl.$l$; the jobs of a netwprku$ng *l*, their time estimates.

10 a.

b.

completed
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